English - Ukrainian Key Words

Vectors Impacts/Collisions
Magnitude po3Mmip Coeff of restitution e=7??
Direction HAMPAMOK Rebound BiJICKOK
Dot Product (ai + bj)(ci +dj) Impact BILJIMB
= ac + bd
Polar Form 2i +2j=+/8 <45° | Loss of Kinetic Energy BTpaTH
KiHeTUYHOi
eHepril
Uniform Acceleration Collide directly C—~ O~
Acceleration [IpuckopeHHs Collide obliquel
pa =4 r\I:/s2 Y Gﬂ %
Deceleration/ yIOBIJIbHEHHA Same direction O—> O—>
Retardation a=-3m/s?
Distance BiJ[CTaHb Opposite direction O0— <O
Time Yac Change in momentum I=mv-mu
Velocity LLIBnAkicTb Collision 3ITKHEHHH
(uorv)
How long? =22 Rest/Stationary B CIIOKOI
(uorv=0)
How far? s=7?? Identical O/1HAKOBI
Dimensional Analysis pO3MipHUU Heavier OisibIlIa Bara
aHaJsIi3
Maximum/Largest MaKCUMYM Lighter Jier1a Bara
Minimum/Smallest MiHIMyM Force
Rest/Stationary B CIIOKOI Resistance Force oImip pyxy
/Stops (uorv=0)
Overtake/Pass out O6rausaTu Tension Force HaTSAT CTPYHU
T=5N
Collide/Collision CTUKATHUCs Mass Macam =5 kg
Vertically BEPTHUKAJbHUH Reaction Force R=3N
Projectiles Friction Force T epta (F = uR)
Greatest/Max Height | MakcumanbHa | Coefficient of Friction KoeQillieHT
BHCOTa TepTa (4 = é)
Range Sx@Sy=0 Rough rpyouii
Angle (of projection) KYT NpoeKuii Smooth TJIaIKUH
Horizontal TOPU30HTAJIbHUHU Pulley IIKIB
Displacement nepeMilleHHA
In terms of g 3 TOUKH 30py &
=> Ans = 3g




Circular Motion Work/Energy/Power
Angular w = 3rad/s Work po6oTa B
speed/velocity JOKOYJIAX
Linear Speed v=3m/s Power (Output) BHUXi/iHa
NOTYXHICTb
Revolutions/turns peBOJIIONT O Tractive Effort CWJIa TATHU
/rotations c—>F
Horizontal TOPU30HTAJbHUM & Drag cuJia Olopy
Vertical BepTuKaibHuil ¢ Incline narop6 =~
Tension HaTAr cTpyHU (T = BN) | Potential Energy E=mgh
Reaction cuiia peakuii (R = 3N) Kinetic Energy E=%mv?
Slack [IpoBucanHd (T = 0) Impulse | =mv—-—mu
Taut HATATHYTUU Embedded BOYZl0BaHUU
Lowest HaWHWKYUU Taut HATATHYTUU
Highest HaWBUILUU Slack npoBUCaHHAT = 0
Sphere chepu Difference Equations
Extension pO3LIUpPEHHS Recurrence e.g.
relation Tn=2Th1—3Th2
Elastic Constant F=k(l-1lo) Sequence MOCJiJOBHICTb
quceJs
Natural length F=k(l-1lo) Steady nparHe 70 Mexi
state/tends to a
limit
Equilibrium F (up) = F (down) Increases 30I/IBIIYETHCA
or F (left) = F (right)
Elastic string eJlaCTU4YHa CTPyHa Decreases 3MEHUIYETHCA
Inextensible HeposTaxHui Homogeneous E.g. Tn—2T,1=0
Differential Equations Inhomogeneous E.g.

/Non-Homogeneous

Tn_ZTn-]_ = 2n = 3

Proportional to

NPONOPIiNHO oL

Constant rate

NOCTiMHA HOpMa

Characteristic Equation:
E.g. If Tn - 2Tn_1 + 3Tn_2 = O
=> Char Equation=x2 —2x +3 =0




Networks and Graphs

Optimal Paths

Nodes/Vertices BY30JI Shortest HAaWKOPOTIIUH
Edges Kparo Longest HaWJOBIIU I
Degree CTYNiHb Quickest/Fastest HaWULBUAIIUA

Digraph (Directed) rpadik 3 Optimal Route ONTUMAJIbHUU
HanpsiMKaMu MapupyT
Walk XOUTH Minimum MiHIMyM
Path IIJISIX Critical Path KPUTHUYHUU IIJIIX
Cycle 15009 Activity Network | Aisg/ibHICTD oig)-}p
Mepexi
Tree JlepeBo Dummies MaHEeKeHU
Spanning Tree OCTOBHE JIEPEBO Early Times paHHi Yacu
Minimum Spanning MiHIMaJIbHE Late Times Ii3H1 YacH
Tree OCTOBHE IepeBO
Matrix (7; 0 3‘) Total Float sarajbHui float
' 22
Adjacency Matrix MaTpULA Must be IOBUHHO OyTH
CYMI>KHOCTI
Might be/Maybe MOXe Oy TH
Scheduling Diagram Jliarpama

IIJIaHYBAHHA




